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Please read the instruction carefully you are allotted 5 minutes specifically for this purpose.

INSTRUCTION TO CANDIDATE

TIME: 2 Hrs.

MM : 240

The Test Booklet consists of 60 questions.

There are Six parts in the question paper A,B,C,D,E,F
consisting of Mental Ability (10 questions), Physics, (10
question) Chemistry (10 questions),Biology (10
question), and Mathematics (10 questions), SST having
10 questions. Each question is allotted 4 (Four) marks for
correct response.

There is No Negative Marking

Use Blue/Black Ball Point Pen only for writing particulars
/marking responses on the Answer Sheet. Use of pencil is
strictly prohibited.

No candidate is allowed to carry any textual material,
printed or written, bits of papers, pager, mobile phone
any electronic device etc, except the Identity Card inside
the examination hall/room.

Rough work is to be done on the space provided for this
purposein the Test Booklet only.

On completion of the test, the candidate must hand over
the Answer Sheet to the invigilator on duty in the
Room/Hall. However, the candidate are allowed to take
away this Test Booklet with them.

Do not fold or make any stray marks on the Answer
Sheet.
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PART A - MAT

01. If Nishant is the brother of Brijesh, Mitali is the sister 01. gfe frera, foorer &1 w18 8, faarel), fena o
of Nishant, Jai is the brother of Purnima, Purnima 51 &, ST, YOI BT |18 B, qIofH, ferorer ol 9T
1s the daughter of Brijesh. Who is the uncle of Jai ? 2| S/ BT ATl HIF 8°
(A) Brijesh (B) Mitali (A) ferorer (B) foerely
(C) Nishant (D) Purnima (C) foremra (D) yfomEr

02. Amit walks 2 km south, turned right and walked 1 02. 31 2 i <féror &Y QiR Feran &, d8T | <Y
km, again turned North and walked 5 km, turend Hedl & 3R 1 &3 Feran &, fhe STk & 3iR
East and walked 5 km. How far is he from the g 2 3R 5 fpdY gerar & fx g\—c‘[ Pl AR g
starting point ? & 3R 5 {b¥T Feran & | I8 URMe fig | fdha-

RE?
(A) 3 km (B) 7 km (A) 3 km (B) 7 km
(©) 5 km (D) 6 km (C) 5 km (D) 6 km

03. I went 15 m to the North, then turned West and 03 H 15 Hier AR BT 3R AT, R uf¥ew @Y 3R
covered 10 m, then turned South, and covered 5 e 3R 10 Hew Ferr, R e @ ek TS,
m then turned East and covered 10 m. In which 3R 5 Hex gdr, q\—g[ ARSI S 3N 10
direction am I now from my starting point ? Arew Terr| o/ § 3 yRRTe ﬁ—g 3 frg

e ¥ &
(A) North (B) South (A) TR (B) aRr
(C) East (D) West ©) qﬁ (D) uf¥em

04. R earns more than H but not as much as T, M earns 04, RH 3 e AT & AR T RreET T8 M, R
more than R. Who earns least among them ? 2l T & | S @ WA B B P &2
(A)H (B)R (AVH (B)R
OT D)M ©T (D) M

05. Saran is eighteenth from the right end in a row of 05, Gl 80 cradl @) v URE it B 4 areed
50 boys. What is his position from the left end? W R & A BR @ ST W q
(A) 32 (B) 35
(©) 33 (D) 34 (A) 32 (B) 35

06. If GLARE 1is coded as 67810 and MONSQOON as (©)33 )34
2395339 then how can RANSOM be coded ? 06. T GLARE @1 67810 31X MONSOON af

2395339 & WU # dIe fhar a1 & af RANSOM
B DY Bre Har S Foar 57
(A) 183952 (B) 198532
(©) 189352 (D) 189532 (A) 183952 (B) 198532
(C) 189352 (D) 189532
SPACE FOR ROUGH WORK
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07. Count the number of triangles in given figure. 07. & T enafa # et @ e |
(A) 38 (B)39 (A) 38 (B)39
(© 40 (D) 41 (C) 40 (D) 41
08. In the following question, select the missing term 08. fFreferRad wee & fau My fipedi #§ & ow ue
from the given options. STd BT |
3,6,12,24,7, 96 3,6,12,24,7, 96
(A) 84 (B)50 (A) 84 (B) 50
(C) 52 (D) 48 (C) 52 (D) 48
09. Which set of letters when sequentially placed at the 09 RreferRad a1eRt BT B | TIE Tl I
gaps in the given letter series shall complete it? AT W & TE AT ST BT TRT T ?
m_1_mi_m_1um . ! .
N — m_i_mi_m_iim
(A) immm (B) imim (A) i i
(©) immi ™ (C) immi (D) miim
10. Eive coaches P, L, R, M,Qare ina.row. R is to the 10, i T P.L.R. M. O T TR # ¥ |R. M <
right of M and left of P. L is to the right of P and left SN I -
of O. Which coach is in the middle? iV %Dl B
H DI 1 Bd 87
(AP B)L
A)P B)L
©OR (D)0 (A) (B)
(OR D)o
SPACE FORROUGH WORK
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PART B - PHYSICS

11. The focal length of eye lens is controlled by?. 11. 3 o1 @ Bicbel ety fbdd grr At ot

(A) Tris oI &7

(B) Optic nerve (A) 3msRa

(C) Ciliary muscles (B) 3fffew 4 (A= weeh <dfren)

(D) Cornea (C) fufersrst arufer (D) &ifHar
12. The persistence of vision for human eye is. 12. AMg g & fou gfte & gedn B

1 1 1 1
(A) e of a second (B) o of a second (A) o of a second (B) o™ of a second
1 1

©) 16" of a second (D) 18" of a second (©) ToF of a second (D) TG of a second
13. Two bodies of 5kg and 4kg are tied to a string 13. faIY Y AR 5 3T 3R 4 fdHUT & T %]

as shown. If the table and pulley are smooth, then U SN O 4 21 A A @ Rl el

acceleration of Skg mass will be. B Al 5 fHUT GRHM P TR BRI |

T T
dkg dkg
| T | T
ske lﬂ Ske la

(A) 19.5 m/s? (B) 0.55 m/s? (A) 19.5 m/s? (B) 0.55 m/s?

(C) 2.72 m/s? (D) 5.55 m/s? (C) 2.72 m/s? (D) 5.55 m/s?
14. Opposition of flow of electric current is called. 14. fOed oRT & yars &1 R dsarr &

(A) Potential difference (A) Ta¥ar=R

(B) Electric charge (B) faega RICN

(C) Resistance (C) ufeRrE

(D) Electromagnetic induction (D) faggd gr@g WRul

SPACE FORROUGH WORK
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15. Specific resistance of a wire depends upon. 15. fell aR @1 fafdre ufeRier fik @=ar T
(A) Tts length (A) THDI a1
(B) Its cross - sectional arca (B) s9& 3U¥T PIc Pl
(C) Its dimensions (C) 39& 3™
(D) Its material (D) SE®! AR
16.  Inhow many parts (equal) a wire of 100Q be cut | 16. 100Q @ Udh IR &I fdod= 91T (SRT6R) # e
so that a resistance of 1Q2 is obtained by connect- SIY drfd S5 FH=R $H¥ # Sfied IR 1Q &1
ing them in parallel. gfoRlE dTed B |
(A) 10 B) 5 (A) 10 B) 5
(O) 100 (D) 50 (©) 100 (D) 50
17. In the circuit shown in figure, the current flowing 17. foa # fe@m v wfde # 5Q uRe &
through 5Q resistance is. AIH W ¥aied 8 drell ORT g |
200 200
(A) 0.5A (B) 0.6A (A) 0.5A (B) 0.6A
(C) 0.9A (D) 1.5A (C) 0.9A (D) 15A
18. When current flows clockwise in a loop, the polarity 18. o9 el U H gRT <fROmad garfsd sl ©,
of its face is. dql SHG {W DI gadl Bl & |
(A) East (B) South (A) gd (B) <feror
(C) West (D) North (C) uf¥am (D) SR
19.  The intensity of a magnetic field is defined as the | 19.  T&Hl A &7 @ ol ol IHD KT 3T
force experienced by a. fou U 90 & wU # gRwvq fhar Smar &
(A) Standard compass (A) 99 oA
(B) Unit positive charge (B) S®IS GHTHD AT
(C) Unit negative charge (C) SPIE ZRUMHD 3T
(D) Unit north pole (D) s@le SO gd
20. The wire having a black plastic covering is a. 20. BTl TITRTd MR aTell IR 3 |
(A) Live wire (B) Neutral wire (A) ollsg dR (B) gl dr
(C) Earth wire (D) None of these (C) 3rf TR (D) ST 9 ®Ig TE
SPACE FORROUGH WORK
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PART C - CHEMISTRY

21. A solution turns red litmus to blue, its pH is likely 71 Uep TIeTa eTel forea @l Sl @R T 8, ST
to be— ' . '
° e pH BN &7 | 8
A1 (B) 4 ™) 1 ®) 4
©) 5 (D) 10 ©) 5 (D) 10
22. Milk of magnesia is an — ” 2 it AR -
(A) Acid (B) Antacid (A) 3 (B) uferareet
(C) Base (D) Rock salt () &R (D) eI THH
23. Which of the following is not a strong acid? 23 Freferfad 3 § B9 91 TP yad o T} 87
(A) Hy50, e sC0 (A) H,S0, (B) CH;COOH
(C) HNOg3 (D) HC1 (C) HNO, (D) HCI
24 NapC0,.10 SR 24, NayCO310H,0 @7 ford 9 & ST o 2
(A) Baking soda (B) Baking powder (A) sfpT drer (B) dfd i uTSeR
(C) Washing soda (D) Bleaching powder (C) &g IS (D) <N Irs
25. What is the chemical formula of Plaster of Paris? 25 oReY 3fH Uy &1 YNRIifD g7 e
1 1 1 1
(€) CaSO4. 75 H0 (D) CaCO3. 77 H0 (C) Cas0y. 5 Hy0 (D) CaC03. 5 Ho0
26. The image shows the pH values of four solutions 2. forzr pH 4 R aR et & pH A fRard)
on a pH scale. 3
(213041516 1718150112314 [1]2]3]4]5]6[7][8[9fI0N1]12)13]14]
A B C P A B C D
Which solutions are alkaline in nature ? S @
BT A9 &R Ydfd &1
(A) A and B (B) B and C ©
(A) Aand B (B) B and C
(C) Cand D (D) A and D
(C) Cand D (D) A and D
SPACE FOR ROUGH WORK
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27. Which of the following is a displacement reaction? 27. f=forRaa & & o A favenmus afafbar 87
(A) CaCO3 — CaO + CO, (A) CaCO3 — CaO + CO,
(B) CaO + 2HCI — CaCl, + H,O (B) CaO + 2HCI — CaCl, + H,O
(C) Fe + CuSO4 —— FeSO,4 + Cu (C) Fe + CuSO4 —— FeSO,4 + Cu
(D) NaOH + HCl — NaCl + H,O (D) NaOH + HCl — NaCl + H,O
28.  The reaction H, + Cl, —> 2HCl is a — 28.  JMfHAT Hy + Cly —> 2HCI U B —
(A) Decomposition reaction (A) g 3AMWlhy
(B) Combination reaction (B) o arfafeha
(C) Double displacement reaction (C) TefaRemu= arfafchy
(D) Displacement reaction (D) TaRemu=T 3rffeha
29. Which of the following is a combustion reaction 29. f=forRaa § & & A <84 srfafhar & —
- (A) ST @1 ST (B) 9¥ @1 fUererr
(A) Boiling of water (B) Melting of wax (C) USIT BT el (D) =T A B 7S
(C) Burning of petrol (D) None of these N - . ,
30. e gikad| BId B |
30. Chemical changes are
(A) 3R, Sapoiig 3R Udh =741 uaref &
(A) Temporary, reversible and a new substance is Prmfor 2 21
produced.
B) WQd UPHIY & ATGH-U& & A1
(B) Always accompanied by exchange of light (B) 9IS < «
(C) Permanent, irrerversible and a new substance © 33 SRR
1s produced. BT T |
(D) Never accompanied by exchange of light and (D) U1 3R ST SHoif & G-I &
heat energy 1T HH Aol
SPACE FOR ROUGH WORK
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PART D - BIOLOGY

31. What is the process by which plants make their own 31. I8 i 1 ufhar & o g1 aie QI&C D UBTIT
food from sunlight? I T Ao ST B°
(A) Respiration (B) Photosynthesis (A) TgEA (B) YT HIATT
(C) Transpiration (D) Excretion (C) IrIcHSH (D) IS
32. Which of the following is a characteristic of acrobic 32. Fr=ferRad 9 9 @19 |1 Wifde waa+ &1 ey
respiration? 27
(A) Occurs in the absence of oxygen (A) SIS B Sruiere ERIGIR
(B) Produces a small amount of energy (B) oISl #E ® Soil YT ®val ©
(C) Produces a large amount of energy (C) TSI AT H Holf S~ Bl B
(D) Occurs in the mitochondria (D) WECIdi~gaT | BIdl &
33. What is the process by which water moves through 33. I8 DI I Uil © ST gRT Ul bl dier
a plant, from the roots to the leaves? STl ¥ uftrl d@ T oIl 8°?
(A) Respiration (B) Photosynthesis (A) 38T (B) UHTT HEeAqoT
(C) Transpiration (D) Osmosis (GRCILINE R (D) URTERYT
34, Which of the following is an example of a passive 34. FrefeiRad § & @9 (ke gRag= gfsbar or
transport process? SEIERYT &7
(A) Active transport (B) Osmosis (A) wfsha aRag (B) Sif<HITR
(C) Diffusion (D) Photosynthesis (C) 78R (D) T HAoT
35. What is the term for the process by which the body 35. S HfhAT DT 7T D & I FRT TRR 3rufire
eliminates waste products? STUTGT bl HHTGT Rl 87
(A) Excretion (B) Respiration (A) SO (B) Ta¥
(C) Photosynthesis (D) Transpiration (C) FTE HYATOT (D) ATSATeASH
36. Which of the following is a by-product of | 30. fereiforRaa § & @9 @1 gerer Geedwer @
photosynthesis? SARSRUEE-T
(A) Carbon dioxide (B) Oxygen (A) D Srsaifegs  (B) 3o
(C) Glucose (D) Water © W (D) uT=iY
SPACE FORROUGH WORK
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37. What is the term for the process by which cells 37. I UfhaT & R ded & s gRT BIREN
become specialized to perform specific functions? fafdre ot o= @ forv fal¥me &1 St 87
(A) Cell division (B) Cell growth (A) PIRIHT faTor (B) ®IRTaT IfG
(C) Cell differentiation (D) Cell death (C) DI favre (D) BITTDT
38. Which of the following is an example of a symbiotic 38. frferRad § W B9 AgoIdl Hae Pl IS 87
relationship?
(A) Parasitism (B) Mutualism (A) Ro(Idrarg (B) IR bl
(C) Commensalism (D) Predation (C) FgHIfoTar (D) TRHETOT
39. What is the process by which an organism produces 39 T8 DI O ufthar ® 9 gRT ®is oifg ol
offspring that are genetically identical to itself? HAT S~ PRl & Sl MRS w ¥ SHd
HHM Bl 27
(A) Sexual reproduction (A) STTEATRID TSI+
(B) Asexual reproduction (B) 31eifiTeh Ao
(C) Binary fission (C) S5 fawde
(D) Budding (D) waifed
40. Which of the following is an example of asexual 40. ferferia & & i T 3retfiies HorT d1 SaTeRvl
reproduction? &?
(A) Humans giving birth to a baby (A) 93 9o T S < V&I ©
(B) Plants producing seeds (B) 9157 UaT @ arel Ulel
(C) Bacteria dividing into two cells (C) daiRaT <1 dIfreprs # fawmfera 1 wer 8
(D) Animals laying eggs (D) 3fS T Trel SR
SPACE FORROUGH WORK
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PART E - MATH’S

41. If p is a positive prime integer, then \/; s — 41. AT p VPGS AT Li\uﬁq’ g \/; &
(A) A rational number -
(A) TH THITT E=T
(B) An irrational number
(B) U&h IMURHY =T
(C) A positive integer
(C) T HHRIHAD YUlids
(D) None of these . :
(D) 3 | Blg 8
42. If o,f be the zeros of the quadratic polynomial 2x?
P d polvm 42, ufs fgama 9gus 2x2+ 5x+ 1 & TID o,p B AT
+5x + =
5x + 1, then value of o +  + o3 oc+[3+oc[3=3?‘[ﬂ'l¢f3ﬁ’€l’[%
(A) -2 g (A) 2 (B)-1
©)1 (D) None of these O 1 (D) None of these
43, The pair of linear equations kx + 4y =5, 3x + 2y = 43, Ra® FNHIT kx + 4y =35,3x +2y =5 Bl EIRe]
5 1s consistent only when — T T BT & o —
(A) k=6 B) k=6 (A) k=6 B)k=6
(CO)k=3 D)k =3 Ok=3 D)k=3
4 44, T9 URD 39 3R B A 1 SISl ST § Al U
44, A fraction becomes 5 when 1 1s added to each of 4 . .
. . A= — Bl O & | Balid, A &9 udd § |
the numerator and denominator. However, if we 5
. 1
1 - ST =1 & —
subtract 5 from each then it becomes 5" The 5 |l < dl uE 2 &l gl 8
fraction is —
5 5 5 5
) 2 (B) - ) o B) ¢
7 13 7 13
(© 4 D) 1 © 5 D) ¢
SPACE FOR ROUGH WORK
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45. A plane left 40 minutes late due to bad weather and | 43. GRI9 HIEH @ PR TP [IHT 40 THIC X1 |
in order to reach it's destination, 1600 km away in XATT gl 3R 1600 fors QX SO T T HHY
Lo . y UR U & 17U S 37U I U1 AT ey
time, it had to increase it's speed by 400 km/h from . ~
. | soced. Find | soced of the vlanc W 400 41 /Hel el TSl | faa &AMy
1t's usual speed. Find the usual speed of the plane : afy ST Efﬂﬁf(’—
(A) 600 km/h (B) 750 km/h (A) 600 km/h (B) 750 km/h
(C) 800 km/h (D) None of these (C) 800 km/h (D) None of these
2 + 2 2 2 i —
46, Ifsec 0 = Y29 then the value of the | 45  afe sccn= Y2 TI 3 g PSndzgcosd o
. 0 q psinO+ qcos6
ps%n qcos o A o
psinO+ qcos6
2
2 )Y P
®) - B) = @ 4 ®
q q
pz _qz p2+q2 ©) 132 _qz (D) p2+q2
N E S 2 2 2 2
©) P +q> (D) p? —iq? P tq P —q
47. 7 sin® 6 + 3 cos® 6 = 4 then : 47. 7 sin® 0 + 3 cos® 6 = 4 T
1 1 2 _ 1
(A) tan 0 = 1/5 (B) tan 6 = 51 (A) tan 0 = 1/5 (B) tan 6 = 21
C) tan 6 = - D) tan 6 = — C) tan 6 = - D) tan 6 = —
(C) tan 6 = 3 (D) tan 0 = (© ; (D) =
48. The first, second and last terms of an A P. are a,b 48. YT AP, & UBel, R AR 3 U ab 3R 2a
and 2a. The number of terms in the A P. is : 21 AP # Ugl & TRem a—
A b B b A) b ®B) b
( )b—a ()b+a b-a b+a
a a a a
© b-a (D) a+b © b-a D) a+b
49. ABCis atriangle and DE is drawn parallel to BC cutting 49. ABC U %I’*\]_,Trf 2 3R DE &I BCH GHMIAR Wiam
the other sidesat D and E. If AB=3.6 cm, AC=24 T & S 3 ﬂgﬂsﬁ BT 4 3R 5 W PHredr S|
cm and AD = 2.1 em, then AE is equal to afd AB=3.6 cm, AC=2.4 cm 3R AD=2.1 cm
(A) 14 cm (B) 1.8 cm 8 T AE aRIR &
(C) 12 cm (D) 1.05 cm (A) 1.4 cm (B) 1.8 cm
) (C) 1.2 cm (D) 1.05 cm
50. The points (— 2, 2), (8, — 2) and (— 4, — 3) arc the . .
vertices of @ - 50 199 (-2,2),(8,-2) 3R (-4,-3) & A &
(A) equilateral A (B) 1sosceles A (A) HHETE A (B) & gen§ A
(C) right A (D) None of these (C) T A (D) T & &S T8
SPACE FOR ROUGH WORK
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PART F - SST

et TSy 1 b &3 W) wNe fear?

51. What territories did the Habsburg Empire rule 5L
over?
(A) Austria (B) Romania (A) afffRgar (B) zmTfrm
(C) Hungary (D) Both (A) and (C) (C) B (D) THI (A) 3R (C)
52. The Jallianwala Bagh is located at 52. SIferiarar anT Rerd
(A) Lahore. (B) Multan (A) @ER (B) Hea™
(C) Amritsar (D) Jallandhar (C) 3FTR (D) SITeloR
53. What is Palar Pani as referred by the people of 33 IS @ AT UTAR YT Bl FIT HEd &7
1 ?
Rajasthan? (A) T (B) T P T
(A) Milk (B) River water (©) T P T (D) a5t BT e
(C)Spring water (D) Rain Water
54,  WRd ¥ Pl WRNTeTD &= § gl BT ufcrerd
54. What is the percentage of forest of total geo- : 5
graphical Area in India -
(A) 30.01% (B) 25.02%
(A) 30.01% (B) 25.02%
(C) 33.01% (D) 20.64%
(C) 33.01% (D) 20.64% . .
55, f&<irg fava gg 9 @i @1 <31 97 <= a1 iR
55. Which one country was not a part of the Allied & o
Powers in the Second World War ? A) ﬁ’c’ o3 (B) wia
(A) Great Britain (B) France (©) ot (D) ATAT
(C) Germany (D) USA. N R L .
56.  Rgat 3R WS WUV e Q9T B IR AT9TY
56. ‘Sinhala and Tamil” languages are main languages &
of which country? -
(A) uTel (B) rer<lq
(A) Nepal (B) Maldives . .
(C) sl (D) R
C) Sri Lank D) M
(©) 5rt Lanka (D) Myanmar 57. o FIg) @ site o T o & —
57. The Regur Soil is also known as - (A) arTer firdy (B) et A
(A) Red Soil (B) Yellow Soil () Tl gy (D) it fag)
(C) Black Soil (D) Alluvial Soil '
SPACE FORROUGH WORK
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38. What is the third tier of government known as? 58. DR B AR KR Bl T el STl 87
(A) Village Panchayats (A) T Hamrd
(B) State government (B) oY WD
(C) Local self-government (C) RITI Xa=ITN
(D) Zila Parisha (D) RTerr uRug
59. Human Development Report' is published by 59. AT faer Ruid fhdd gRT UdtfRrd &1 ST
8°
(A) UNDP (B) UNESCO (A) UNDP (B) UNESCO
(C)WHO (D) WTO (C)WHO (D) WTO
60. Among the following South Asian countries, 60. foreferiRaa <feror wftrng <= 4, 7 o=
had the highest life expectancy at birth. D Y GaH 2w Sftas gearer off |
(A) Myanmar (B) Sri Lanka (A) RIMAR (B) ScipT
(C) Nepal (D) India ©) 3 (D) W=
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